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INSTRUCTIONS

IMMEDIATELY AFTER THE COMMENCEMENT OF THE EXAMINATION, YOU SHOULD CHECK
THAT THIS TEST BOOKLET DOES NOT HAVE ANY UNPRINTED OR TORN OR MISSING PAGES
OR ITEMS, ETC. IF SO, GET IT REPLACED BY A COMPLETE TEST BOOKLET.

. Please note that it is the candidate’s responsibility to encode and fill in the Roll Number

and Test Booklet Series A, B, C or D carefully and without any omission or discrepancy at
the appropriate places in the OMR Answer Sheet. Any omission/discrepancy will render
the Answer Sheet liable for rejection.

You have to enter your Roll Number on the Test Booklet in
the Box provided alongside. DO NOT write anything else on
the Test Booklet.

This Test Booklet contains 100 items (questions). Each item is printed both in Hindi and
English. Each item comprises four responses (answers). You will select the response which you
want to mark on the Answer Sheet. In case you feel that there is more than one correct response,
mark the response which you consider the best. In any case, choose ONLY ONE response for each
item.

. You have to mark all your responses ONLY on the separate Answer Sheet provided.

See directions in the Answer Sheet.

. All items carry equal marks.

Before you proceed to mark in the Answer Sheet the response to various items in the Test
Booklet, you have to fill in some particulars in the Answer Sheet as per instructions sent to you
with your Admission Certificate.

. After you have completed filling in all your responses on the Answer Sheet and the examination

has concluded, you should hand over to the Invigilator only the Answer Sheet. You are permitted
to take away with you the Test Booklet.

Sheets for rough work are appended in the Test Booklet at the end.

Penalty for wrong answers :
THERE WILL BE PENALTY FOR WRONG ANSWERS MARKED BY A CANDIDATE IN THE
OBJECTIVE TYPE QUESTION PAPERS.

(i) There are four alternatives for the answer to every question. For each question for which a
wrong answer has been given by the candidate, one-third of the marks assigned to that
question will be deducted as penalty.

(ii) If a candidate gives more than one answer, it will be treated as a wrong answer even if one of
the given answers happens to be correct and there will be same penalty as above to that
question.

(iii) If a question is left blank, i.e., no answer is given by the candidate, there will be no penalty
for that question.
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1. If the roots of the equation
Ix? +mx+m=0 are in the ratio p:q,

then
\[E ' ‘[E =
g Yp VI
is equal to
fa) 0O (b) 1
fc) 2 (d) 3

2. If
V3x2 -7x-30 - ¥2x2-7x-5=x-5

has o and f§§ as its roots, then the value

of of is

(a) -15 (b) -5

fc) O (d) 5

3. If £+g=m and g+-E-=n, then what

x y x Y

isﬁcqual to?
Yy

(@) np +mq (b) np -+ mq
mp +nq mp - nq

(c) np-—mq (d) np—rg
mp - ngq mp + nq

4, If a2—by-cz=0, ax-b%+cz=0 and
ax+by—c2 =0, then the value of

L z
atx bty c+z
will be
fa) a+b+c (b) 3
fe) 1 @ 0

5. If the -equations xﬁ—px+q=0 and
x2+qx-p=0 have a common root,

then which one of the following is
correct?

fa p-q=0 (b) p+q-2=0
e/ p+rq-1=0 (d) p-gq-1=0

B-ABPA-P-JRW/54A

6. If x=234273, then the value of
2x3-6x-5 is equal to
(@ 0O (b) 1
¢ 2 @ 3

7. The sum and difference of two
expressions are 5x?-x-4 and
x?4+9x-10 respectively. The HCF of
the two expressions will be

(@) (x+1) (b) (x-1)
fc) (3x+7) (d) (2x-3)
8. If (s-a)+(s-b)+(s-¢c)=s, then the
value of
(s-a)? +(s-b)2 +(s-c)? +s2
a?+b?+c?
will be
fa) 3 () 1
fc) O (d -1
9. If the polynomial

x84 p.:rs*i—qx"-x2 -x=-3

is divisible by (x* — 1), then the value of

p2+q? is
(@) 1 (b) 9
() 10 @ 13

10. Let p and g be non-zero integers.
Consider the polynomial

A(x)= x%4 px+q
It is given that (x-m) and (x - km) are
simple factors of A(x), where m is a
non-zero integer and k is a positive
integer, k = 2. Which one of the following
is correct?

fa) (k+1)?p? =kq
(b) (k+1)*q=kp?
(c) k?*q=(k+1)p?
(@) k?p?=(k+1)%q
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1. IR §fFm k2 +mx+m=0 % @ p:q

%Wﬂ?,ﬁg+g+ﬁm

Eric s &

fa) 0 (b) 1

fc) 2 (d) 3
2. If2

V3x2 -7x-30 - V2x2 -7x-5=x-5

e o AP E, N op F AR T R?

fa) -15 fb) -5
(c) 0 (@ s
3-71& £+¢—I=m Sn( .g £=n %’ a £

X Yy x Yy Yy

forurs = 27

(a) np+mg (b) np +mgq
mp +ngq mp - ng

¢ 2T (d) np-mq
mp - nq mp +ng

4. afe az-by—u=0, ax-b2+cz=0 3N
ax+by-c? = 0%, @
I .
a+x b+y c+z

1 A B
(a) a+b+c (b) 3
fe) 1 (@ 0

5. 3 wiEwW x2-px+q=0 3N
x2+gx-p=0 F T IFAE @ B, @
Frffiaa #§ @ -1 w a8 27
fa p-q=0 (b) p+tq-2=0

(0 p+q-1=0 (d) p-g-1=0
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6. AR x=23+273 %, @ 2x3-6x-5F WA
operr =R R7
(@ O (b) 1
e) 2 [d 3

7. A FeE) F e N IR FAU: 5x%-x-4
A x249x-10 B | D FFH H
Ho Ho (HCF) =41 Bm?
fa) (x+1) (b) (x-1)
fc) (3x+7) (d) (2x-3)

8. 'ﬂﬂ(s—a}+(s—b)+(s—c]=s%,?ﬁ

(s—u)2 +(s—b)2 +(s—c)2 +s2

a?+b2+c?
1 HE w1 A
fa) 3 (b) 1
fcg O (d -1
9. If a{w
x6+px5+qx4-x2-x—3
(x*-1) & fawsg R}, @ p?+q® W WA
w1 87
(@) 1 (b) 9
(c) 10 (d) 13

10. 7R g p M ¢ ER piw #
@EA(x)=x2+px+qWﬁiﬂmlﬂ3
o mn % 7 (x - m) 3R (x-km), A(x)F

e rEe §, e om @ W P g, k
e Ut 3R k22 R Feafafes |
A1 v A R

(@ (k+1)?p? =kq
(b) (k+1)*q=kp?
(c) k?q=(k+1)p?
(d) k?p?=(k+1)%q

[P.T.O.
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11. Let m be a non-zero integer and n be a 16. If the sum of the roots of ax?+ bx+¢=0

positive integer. Let R be the remainder is equal to the sum of the squares of
obtained on dividing the polynomial their reciprocals, then which one of the
x" +m" by (x-m). Then following relations is correct?
2 2_n,2

fa) R is a non-zero even integer fa) ab®+bc®=2a%c

(b) Ris odd, if m is odd (b) ac®+bc?=2b%a

fc) R=s? for some integer s, if n is fc) ab?+be?=ac

even

5 ‘ . (d) a?+b2+c%=1
(d) R=t" for some integer t, if 3

divides n 17. Consider the following statements in
respect of the expression
12. 1f 4*2¥ =128 and 33¥32Y-9% = 0, then n(n+1)
the value of x + y can be equal to S = 2
fa) 7 (b) 5 where n is an integer :
) 3 @ 1 1. There are exactly two values of
n for which S, = 861.
13. If the linear factors of ax? - (a? + 1)x +a 2. §,=S8 (1) and hence for any
are p and g, then p+q is equal to integer m, we have two values of

n for which S, =m.

- 1
(@) (x-1)(a+1) Which of the above statements is/are

(b) (x+1)(a+1) correct?
€ (x-1)a-1) A Koy
(b) 2 only
@ ix+ata=1) (c) Both 1 and 2
14, If (d) Neither 1 nor 2
G va+2b +Ja-2b 18. Consider the following statements in
va+2b -Ja-2b respect of two different non-zero

2 i . integers p and q :
then bx“-ax+b is equal to (given that
1. For (p+4q) to be less than (p-gq),

b+ 0) g must be negative,

(a) O (b) 1 2. For(p+q)to be greater than (p - g),

(c) ab (d) 2ab both p and g must be positive.
Which of the above statements is/are

15. If a® =117+b® and a=3+b, then the correct?

value of a+ b is ( given that a> 0 and (@) 1 only

b> Q) (b) 2 only

(a) 7 (b) 9 {c) Both 1 and 2

fc) 11 (d) 13 (d) Neither 1 nor 2

B-ABPA-P-JRW/54A 4
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ll.ma"rﬁ'zmwvﬁmwhsmnm

iR PiE R 9 eifm R, #EW

x"+m" B (x-m) @ GolE F3 woum

uFA B T

(@) R Y EH P @

(b) R famm 2, af2 mfawm @

) T s s & fog R=s2 %, AR

16. 3% ax?+bx+c=0 & Wl F WS, FH

eEAl % @l & Wg  aua 8, a1 el
wadi #§ § F19-91 TF w27

(a) ab?+ be? = 2a%c
(b) ac? + be? = 2b%a
fc) ab?+ be? = a’e

nEH R (d) a’+b%+c*=1
(d) T s ¢ % fog R=1° B, 3R 3,
n % fawfoa =@ 2 17. aqaa;s _._'ﬂ_nf_l_) Ei @mg %
12. af 42V =128 3k 33%320_9%W — 0 ¥, ?ﬁﬁmﬂﬁivﬁaﬂm.
x + y F1 AA s 2R 8 @ 27 1. n % gy @ W %, P fog
(@) 7 (b) 5 Sn = 8618
(c) 3 (d 1 2. S,=5_(p,) ¢ 3 7@ vER R s
mﬁimm‘ﬂﬂ na?‘rﬁm% {EEED
13. 9% ax? -(a? +1)x+a F iE® THES fau s, =m ?1
pSfl'( qt,ap+qmm%? Wmﬁam_mmwtﬁ?
(@) (x-1)(a+1) (@ G
(b) (x+1){a+1)
© (x-1)a-1) )% 2
(d (x+1)(a-1) (c) 1Mt 2
(@ Fd13mAR2
14. IR

_ Jawih v Ja=ab 18. A ffm TEm Wi p o g F ar @

~ Ja+2b-+Ja-2b frffas FuA w faam Fifm
2, @ bx?-ax+ b fFed s 37 (R 1. (p+q) ¥ (p-q) & #8 @1 & fog
¢ b20.) q e B € =R
(@) 0 B) 1 2. (p+q) % (p-q) A w1 & fom
fc) ab (d) 2ab p 3N q 26 s O @ Fifeu
- ?
15. 9% a® =117+b% M a=3+b &, @ mﬁﬁ;:ﬁa WY
a+bF AR F2? (R & as>03k (@) 1
b>0.) (b) *Fa@ 2
a) 7 (b) 9 c) 1 3N 273
(c) 11 (d 13 (@ F@13mad2
B-ABPA-P-JRW/54A 5 [P.T.O.
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HE = 2 = E. then which of the following
b ¢ d
is/are correct?
b3+ c34+a°
a’+b3+c3

2

1.

ISH N

a’+b?+¢

p: b T
b2+ c2+d?

SHEN]

Select the correct answer using the code
given below,

fa)j 1 only

fb) 2 only

f¢) Both 1 and 2
(d) Neither 1 nor 2

20. 7'0_510 js divisible by

fa) S
(b) 7
fc) 10
d 11

21. Let a two-digit number be k times the

sum of its digits. If the number formed
by interchanging the digits is m times
the sum of the digits, then the value of
m is

fa) 9-k

(b) 10-k

c) 11-k

(d k-1

22. A man walking at 5 km/hour noticed

that a 225m long train coming in
the opposite direction crossed him in
9 seconds. The speed of the train is

fa) 75 km/hour
(b) 80 km/hour
fc) 85 km/hour
(d) 90 km/hour

B-ABPA-P-JRW/54A

23. (

sin 35° )2 £ (cos 55°
cos 55° sin 35°
to

2
) +2sin30° is equal

() -1
(b) O
fc) 1

(d) 2

24. A cyclist moves non-stop from A to B, a

distance of 14 km, at a certain average
speed. If his average speed reduces by
1 km per hour, he takes 20 minutes
more to cover the same distance. The
original average speed of the cyclist is

fa) 5 km/hour
fb) 6 km/hour
(c) 7 km/hour

(d) None of the above

25. If a sum of money at a certain rate of

simple interest per year doubles in
5 years and at a different rate of simple
interest per year becomes three times in
12 years, then the difference in the two
rates of simple interest per year is

(@) 2%
(b) 3%

(c) 3%%

(d) 41%
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19. aﬁ%=%=§%,aiﬁ=ﬁaﬁaaﬁﬂm-m/ﬂ

uel /87

b3+c3+d®
ad+b3+c
2

1.

QIR

a?+b%+c
b%+c?+d?

9 fou T g2 F W R E@ IR R
(a) Fad 1

(b) Fad 2

fc) 1 323

(d A@|13Mad2

2.

AR

20. 719- 510 f5Ed Ry 7

fa) 5
(b) 7
¢ 10
(d 11

21. 7F oifm A FH N F qE AH A F
A 1 kT | AR TEn ¥ S o
# Fgen | o GE I S F AEa
m A R, @ m® HR @ RY
fa) 9-k
(b) 10—k
€ 11-k
(d) k-1

22. T s A 5 o e /uz1 A =@ ¥ T@ g
@ 5 faula fem & s g 225 o ol
U temdl 3@ 9 s # Un wd R wmd
# a7 87

(a) 75 fo o fu1
(b) 80 f&Fo o a1
c) 85 f&o dlo /a1
(d) 90 fHo e /g

B-ABPA-P-JRW/54A

s 2 (-] 2
23. [s'"w) -(“sss) +2sin30° T

cos 55°
a7

sin 35°

(@ -1
(b) 0
(¢) 1
(d) 2

24, UF HEFEd 995 A 8 BT 14 fFo do A

70 T+ = fifdm ofwa 9@ 4 @3 w=x@
2 3R e ma =@ 1 e e wfg @&
4 B 2, A @ 3 g0 A W FE F faw
20 fire sfas @ B1 w8 anfea == 6
yrifve afraa =ra =0 87

(@ 5 o o /az
(b) 6 o o fuz
(c) 7 o Hio/uz
(@) 3T H A T

25. afz #8 Oty Gy = f e R

affs s @ 5 99 7 A A st ko
wur = 6 el = affs w12 9
# d= T A TR, @ amm =me =
2T 9t 22 3 = 3 87

(@) 2%
o) 3%

(c) 3L1%

(d) 4 % %

[P.T.O.
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26. Let ABC and A'B’C’ be two triangles

in which AB> A'B’, BC> B’C’ and
CA>C'A’. Let D, E and F be the mid-

points of the sides BC, CA and AB

respectively. Let D’, E’ and F’ be the
midpoints of the sides B’'C’, C'A’ and
A’B’ respectively. Consider the following
statements :

Statement 1 ;

AD> A'D’, BE>B’E’ and CF> CF’
are always true.

Statement II :
AB?+ BC?+ CA?
AD? + BE? 4+ CF?
A'B2+ B'C'?+ A2
A'D’?2+ B'E'2+ C'F'?

Which one of the following is correct in
respect of the above statements?

(a) Both Statement | and Statement Il
are true and Statement Il is the
correct explanation of Statement [

(b) Both Statement I and Statement II
are true but Statement Il is not the
correct explanation of Statement |

(c) Statementl is true but Statement Il
is false

d) Statement 1 is false but Statement II
is true

27. The annual incomes of two persons are

in the ratio 9 : 7 and their expenses are
in the ratio 4 : 3. If each of them saves
¥ 2,000 per year, what is the difference
in their annual incomes?

fa) ¥ 4,000
(b) € 4,500
) € 5,000
(d) € 5,500

B-ABPA-P-JRW/S54A

28. Let S be a set of first fourteen natural

numbers. The possible number of pairs
(a, b), where a, be S and a# b such
that ab leaves remainder 1 when
divided by 15, is

(a) 3
(b) 5
fc) 6

fd) None of the above

29. A clock strikes once at 1 o'clock, twice at

2 o'clock and thrice at 3 o'clock, and
so on. If it takes 8 seconds to strike at
S o'clock, the time taken by it to strike
at 10 o’clock is

fa) 14 seconds
(b) 16 seconds
fc) 18 seconds

(d) None of the above

30. In a circle of radius 2 units, a diameter

AB intersects a chord of length 2 units
perpendicularly at P. If AP > BP, then
AP is equal to

fa) (2++5) units
(b) (2++3) units
fc) (2++2) units

(d) 3 units
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26. WA @Y ABC 3 A'B'C’ A Biye &, e
AB> A'B’, BC> B'C' ¥R CA>CA’ §I
u ofifse D, E 3R F#%99: Yy BC, CA
#n AB % ww-fag ®| W fifem D7, E’ 3
F' FoE: g9 B'C, C'A’ iR A'B’ %
neg-fag ¥ | Frafafaa wat o few i

FH I :
AD> A’D’, BE> B'E’ 3l CF>CF’
B 5 B
HYq 11 .
AB? 4+ BC? + cA?
AD?+ BE2 + CF2
_AB2:+BC?ica’?
A'D2+ BE?4+ C'F?
g FoEl % fou Frafafas 3 @ #9-w1 @
el 27

(@ F44 1 % F94 1 3 w9 & @
F44 11, F94 1 6 981 = ¢

(b) F44 1 ¥R FE 1 A FE B A
F9 11, F94 1 %) Gel =area) TE 2

(c) %A 1 ed @ AfF F97 11 318 ?

(d) %1 FGF ¢ AfF F9F 199 R

27. @ =ral $ Fifies 9@ 9:7 & IgTa A §
3R IF T 4: 3 F e § B AR R
wer =i € 2,000 vfa ad 7= R, @ IR
aifie a1 #§ @ i 27

(@) ¥ 4,000
(b) ¥ 4,500
¢ 5,000
(d) ¥ 5,500

B-ABPA-P-JRW/54A

28, WA #ff S vEa <ee A Dl 1 TF FT=H
21w (a, b) F Gwifaa Fen F=n R, @l
a, be SA a#»b W TR & abF 15 7
fawfem #0 w ANEA 1 T 27
(a) 3
(b) S
() 6

(@) 3w & & = 7

29. TF TE 1 994 W UH AW g1 8, 2 T WA
AR Tl R, 3 79 W 49 90 Ford ¢ o gt
Fq 8§ o9 wdl g1 3 5 99 q@ q9 8
8 ¥Fe Adl B, @ 10 T W F9 ° Eam
Uug @ B
(a) 14 §F3
(b) 16 ¥
(c) 18 WHe
(d) I 7 | = T

30. 2 @ frew 9 U 99 § =W AB, 2
@ Sfa W P W EE wiossia w2
afz AP > BP, @t AP forgd auat R7
(a) (2+5)FF%
(b) (2++3) %08
fc) (2++2) T8

(d) 30

[P.T.O.
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31. Under what condition on p and g, one of 34. Consider the following statements :

the roots of the equation x? + px+g=0 1. Every natural number is a real

is the square of the other? number,

2. Every real number is a rational

a) 1+q+q% =3
(a) rq Pa number.

Bl T _— 3. Every integer is a real number.
p =
Every rational number is a real
number.
¢ p3+q+q® =3
B & Which of the above statements are

4 3 correct?
(d) q°+p+p*=3pg fa) 1,2 and 3

’ y ) f(b) 1, 3 and 4
32. What is the maximum value of m, if

the number N =90x42x324x55 is fc) 2 and 3 only

@ 8 35. For what value of k is (x+ 1) a factor of
) 7 x3+kx?-x+2?

(c) 6 (@3

(d 5 (b) 3

33. A bike consumes 20 mL of petrol per " 1
kilometre, if it is driven at a speed in the (d) -2
range of 25-50 km/hour and consumes
40 mL of petrol per kilometre at any

5 36. Consider the following statements :
other speed, How much petrol is

consumed by the bike in travelling a 1. There exists a positive "flal number
distance of 50 km, if the bike is driven m such that cosx =2""",
at a speed of 40 km/hour for the 2. mn2>m+n for all m, n belonging to
first 10 km, at a speed of 60 km/hour set of natural numbers.
for the next 30 km and at a speed of
30 km/hour for the last 10 km? Which of the above statements is/are
correct?
f@ 1L
fa) 1 only
P A (b) 2 only
() 14 L {c) Both 1 and 2
({d 16 L fd) Neither 1 nor 2
B-ABPA-P-JRW/54A 10
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31. wHiFW x24 px+q= 0% & Y@ N TR qA

w1 a1 81 % fore p 3l g Fra wftEy F andim
e

@ 1+q+q° =3pq
(b) 1+p+p?=3pg
) p*+q+q* =3pq

([d) q°+p+p?=3pq

32. 3f2 H@ENm N=90x42x324x55 3™ #

favrsa R, A m 1 rfowan 9= w0 87
(@ 8
(b) 7
fc) 6
(d 5

33. W HEERREA # 25-50 fho Hio/da F

gt #§ feft 9@ @ =emg 9 w20 e fae
Yora wfy freniier i @ua Adt ® i feed
4 9@ B gan w o W 40 fio fHe ¥
wfa frenfiz 1 @ At )l SewstEa
urd 10 fo o # 40 fFo o /g1 i a@
A, 3 30 fFo o # 60 fHo Hio/da1 H
I1a & v 2ifm 10 fFo do F 30 e e/
w21 9| § wen o R, @ dewniFd
T 50 fro Ho F g m F4 # e W
$1 @y #rfi?

fa) 1 fao
(b) 1-2 fo
(c) 14 Tae
@ 16 fao

B-ABPA-P-JRW/54A
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34. frefafaa FuE v faEr fife

1. YeUE uA QI U artad wed gl 2l

2. U ardfas ded s uieE wen el
21

3. W% quiis U ardfas gen a2l

4. WA it 9eT U Traias 9l A
21

I FUA # W -3 T 87
(@ 1,233
(b) 1,33M4
c) Faa 233
(d) Faa 3 A4

35. k% 59 om & 0 (x+1), x5+ kx2-x+2

1 0% oGS 27
fa) 4
(b) 3
(e) 1
(@ -2

36. Frefefaa wua w fem Hifsw

1. & 9eTeHE dredieE e m ® e
T YFR 2 & cosx =2m*1 R

2. mnzm+n, 5@ @ m, n 9 P F
T F W g

I FoE A Y - /8w 2R
(a) Faa 1

(b) Fas 2

() 1 3T 2 2

(@ Fd13mad2

[P.T.O.
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37. The solution of the inequation

1 1
1?—-—2-20

X x
is ( given that x # 0)
fa) x>0
(b) x<0

() —1—«/§st—1+~/§
2 2

-1-45 =1+
2

or x 2
2

&

(d x<

38. Which of the points P(5, - 1), Q(3, -2)

and R(1, 1) lie in the solution of the
system of inequations x+y<4 and
x-y=2?

(@) Q and R only
(b) P and R only
fe) P and Q only
fd) P, Qand R

39. A passenger train takes 1 hour less for

a journey of 120 km, if its speed is
increased by 10 km/hour from its usual
speed, What is its usual speed?

fa) 50 km/hour
(b) 40 km/hour
fc) 35 km/hour
{d) 30 km/hour

40. The value of k, for which the system

of equations 3x-ky-20=0 and
6x - 10y +40 = 0 has no solution, is

() 10
(b) 6
e S
(d) 3

B-ABPA-P-JRW/54A
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41. Consider the following in respect of

natural numbers a, b and ¢ :

1. LCM(ab, ac)=a LCM(b, ¢)
HCF(ab, ac) = a HCF(b, ¢)
HCF(a, b)<LCM|(a, b)
HCF(a, b) divides LCM (a, b).

P e

Which of the above are correct?

fa) 1 and 2 only
(b} 3 and 4 only
fc) 1, 2 and 4 only
(d 1,2, 3 and 4

42, There are three brothers. The sums of

ages of two of them at a time are
4 years, 6 years and 8 years. The age
difference between the eldest and the
youngest is

fa) 3 years
(b) 4 years
fc) 5 years
(d) 6 years

43. A person goes to a market between

4 p.m. and 5 p.m. When he comes back,
he finds that the hour hand and
the minute hand of the clock have
interchanged their positions. For how
much time (approximately) was he out
of his house?

fa) 55-38 minutes
(b) 5548 minutes
fc) 55:57 minutes
(d) 5567 minutes
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37. s 1+ -1 >0 % w70 87 (R

mmafE x20)
(a) x>0
(b) x<0

(0 '1"/55):5‘1*‘/3
2 2

—l—ng x2~l+
2 2

@

d x<

38. fagat P(s, -1), Q(3, -2) M R(1, 1) #

a"ﬁﬂ-ﬁﬁsmﬁmx+ys43ﬁi
x-y>2%a § A 87

(a) Fa@ Q3N R

(b) @ PHR R

(c) Fa@ P3N Q

(d P, Q3MR

39, UF 4G WmEl 120 e e amEn F fow 1 9=

F T adl 2, AR T 9 g T |
10 fre o /T 9or wdt B WA WA
e #2101 87

fa) 50 o o /a2
(b) 40 f&e o /Hz
c) 35 o o /a1
(d) 30 fFo o fFa

40. k ¥ a8 ¥M, Tags fou wiwm FEg

3x-ky-20=0 3R 6x-10y+40=0
#1§ 7 TE &, 787

fa) 10

(b) 6

fe) 5

(d 3

B-ABPA-P-JRW/54A

41. W PIH a, b AR ¢ F fom Frefafen w famm

$ifm :

1. LCM(ab, ac)=aLCM(b, c)

2. HCF(ab, ac)=aHCF(b, c)

3. HCF(q b)<LCM(a, b)

4, HCF(q b), LCM(a, b) # fawifm
Al R

394 A | FH-8 |/ 27

(a) FF@ 1 R 2

(b) Fa@ 3 3N 4

fc) Fa@ 1, 234

(@ 1,2, 334

42, @7 o ¥ Bl wm ow oI @ @ A ag W

AEA 4 94, 6 94 39 8 T4 B| wER 92 3N
Tal B N WY T W F 27

(@) 374
(b) 478
c) 5ad
(d 6=

43. TF AfF UH 4 99 § 9 5 994 F 419 TR

ST 2| SE 9B 99 3 B, 79 98 wian @ B
g # W 1 gd o fme & g f Fuf
a9e § 3ga 18 ¢ 9% Fhaa @aa (@) &
foru = & = w?

fa) 55-38 firge
(b) 5548 fre
(c) 55-57 fiFe
(d) 5567 iz

[P T.0;
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44. In a gathering of 100 people, 70 of them 46. Two pipes A and B can fill a tank

can speak Hindi, 60 can speak English
and 30 can speak French. Further, 30
of them can speak both Hindi and
English, 20 can speak both Hindi and
French. If x is the number of people
who can speak both English and
French, then which one of the following
is correct? (Assume that everyone can
speak at least one of the three
languages.)

(@ 9<x<30

(b) 0<x<8

fcf x=9

fd x=8

45. A cloth merchant buys cloth from a

weaver and cheats him by using a scale
which is 10 cm longer than a normal
metre scale. He claims to sell cloth at
the cost price to his customers, but
while selling uses a scale which is
10 e¢m shorter than a normal metre
scale. What is his gain?

fa) 20%

(b) 21%

(c) 22%%

(d) 23%%

B-ABPA-P-JRW/S4A

in 60 minutes and 75 minutes
respectively. There is also an outlet C
If A, Band C are opened together, the
tank is full in 50 minutes. How much
time will be taken by C to empty the full
tank?

(a) 100 minutes
(b) 110 minutes
fc) 120 minutes

{d) 125 minutes

47. In a race of 1000 m, A beats Bby 100 m

or 10 seconds. If they start a race of
1000 m simultaneously from the same
point and if B gets injured after running
50 m less than half the race length and
due to which his speed gets halved, then
by how much time will A beat B?

(a) 65 seconds
(b) 60 seconds
(c) 50 seconds

(d) 45 seconds

48. The salary of a person is increased by

10% of his original salary. But he
received the same amount even after
increment. What is the percentage of his
salary he did not receive?

fa)j 11%
b) 10%
fc) (100 /11)%

(d (90/11)%
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44. 100 = 1 & agE ) 3 &/ 70 =AfE

el 9 w4 2, 60 =f 3 e wa #
an 30 = H9 91d G 8| W 99 6,
I A 30 =fe R v A0 A aa wwa
£ a91 20 =uf &= sin ¥9 3F1 919 594 B
af2 x 3 =i $ e ¢ S s i e
2 91 g 8, o Fefefas 8§ FR-A
w g8 27 (Am it B wdw =t
wrmal # | F-V-FH OF 9 46 ghal 21)

(a) 9<x<30
(b)) 0<x<8
fc) x=9

(d x=8

45. T F92 F HAOA FTH Y F9 @lew 2 I

W We & 10 Ao do Tl WA F
T G ) U Jd R TR A AR
F @A qod W FYS d94 F @1 FWa R,
Al T3 wa Fre T w1 w@m Fa @ 9
Ay Wz 7 @ 10 Fo Hio B B IFH
N Y

(@) 20%

(b) 21%

(c) 22%%

(d) 23%%

B-ABPA-P-JRW/54A

46. 2 T A v B 7R = FAm: 60 e

A 75 fime @ W wwd 81w Fram ooft R
Ife A, B 3R ¢ wwag @ fiy smd, @ 2
50 fime ¥ wedlt B) 9@l 2R = C T @l
F # Fraan g9a @m?

(a) 100 fiz
(b) 110 fiFz
(c) 120 fiFe
(d) 125 fime

47. 1000 Ho @& uF 22 # A, BH 100 Ho ;@

10 B%c A goal 81 9R A @ wa d
1000 Hto % Az wHEY Wy F=@ ¢ v IR
B3z i dad & M A 50 Mo F4 7& e
¥ qu| 99a @ s 8, Bad o e
ama e B S B, @ A, BF e v @
T ?

(a) 65 FFe
(b) 60 BFe
(c) 50 W&z
(d) 45 ¥%e

48, TF AR ¥ 904 § §e da4 1 10% Fhe WA

) A A0 378 F 9 ot 3/ A5 i 37
& uftt ww 7)1 3/ w1 Ao A el ftem
Tty W e 747

@ 11%
(b) 10%
) (100/11)%

(d (90/11)%

[P.T.O.
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49. A truck moves along a circular path and

describes 100 m when it has traced out
36° at the centre. The radius of the
circle is equal to

100
—m
n

(a)

250
4

(b)

500
n

(c)

m

600
n

(d)

50. Two poles are placed at P and Q on either

side of a road such that the line joining
P and Qis perpendicular to the length of
the road. A person moves x metre away
from P parallel to the road and places
another pole at R. Then the person
moves further x metre in the same
direction and turns and moves a
distance y metre away from the road
perpendicularly, where he finds himself,
Q and R on the same line. The distance
between P and Q (i.e., the width of the
road) in metre is

fa) x

(b)

N =

fc) y

(d) 2y

B-ABPA-P-JRW/54A

§1. Suppose chords AB and CD of a circle

AI

intersect at a point P inside the circle.
Two right-angled triangles A’P'B’ and
C’'Q’'D’ are formed as shown in the
figures below such that A’P’'= AP,
B’'P’=BP, C'Q'=CP, D'Q'=DP and
ZA'P'B'=90°= ZC'Q'D’ :

B’ O; D’

Which of the following statements are
not correct?

1. A'P'B’ and C'Q'D’
triangles, but
congruent.,

are similar
need not be

2. A'P'B’ and C'Q’D’ are congruent
triangles.

3. A'P'B’ and C’'Q’D’ are triangles of
same area.

4. A'P'B’ and C’Q’D’ are triangles of
same perimeter,

Select the correct answer using the code
given below.

(@) 2 and 3 only

(b) 1 and 3 only

(¢) 1, 2 and 4 only

(d 1,2, 3 and 4
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49. UF T# IUE@ Y4 W T g HR W 36° 51. #H & uF ga A sfand AB 3 cD 9w *

FjifEa @ T 100 He A g0 T = B IR fag P w wfo=de wwli #1 A wm
ga %1 Fron frgs ame 27 fiym A'p'B 3t o'y R e Rl %
HIER W YER a4dl & R AP = AP,
100 B'P’=BP, C'Q'=CP, D'Q'=DP 3
fa) —=*o ZA'P'B = 90°= 2C'Q'D' % ;
”
) 220 i
] (c) '5‘%)’% P L\
@ 0o Trafafan Fot § @ -8 v 79 87
" 1. A’P'B 3R C’'Q'D’ wweq fve & af
ravas ¢ o watmem 8|
“ 50. 2 @MW UH TSF & aH] AR W P A Q W
Wmmma 55 pain Qan:l e 2. A'P'B'@RC'Q'D'Eal’leﬁ‘Fl?I
it Ya weH A wa W w9 Bl 2 3. AP'B #R C'Q'D’ UM #E%E *
=fth ¥eF & WA® P & x i@ g Fe R o §)
N T g @ R W @A B | I6F AR 98
=ift 3 e # x Wi wga g2 i § ek 4. A'P'B ¥R C'Q'D’ v wita ¥ B
Hew ¥ Igad y iz gl @@ w1 R, o'l 2

UMt RS, QM RE AW W
2l pan Q% ¥ A g0 (vl ws%

<heré) it # w1 37 #3 fag M 5 1 WA = 3w g

fa) x (a) Faa 2 3R 3

(b) % (b) Fad 1 3R 3

e y (c) Faa@ 1, 2 34

@ ¥ (d 1,2, 334
B-ABPA-P-JRW/54A 17 S,
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52. Suppose ABCis a triangle with AB of unit
length. D and E are the points lying on
AB and AC respectively such that BC
and DE are parallel. If the area of
triangle ABC is twice the area of triangle
ADE, then the length of AD is

1 :
a - t
(a) 2um

1
D)) - it
(b) 3 uni

(€ —L unit

V2

1 )
d) —-
(d) 7B unit

53. A rhombus is formed by joining
midpoints of the sides of a rectangle in
the suitable order. If the area of the
rhombus is 2 square units, then the
area of the rectangle is
fa) 242 square units
(b) 4 square units
{c) 442 square units

{d) 8 square units

54. If each interior angle of a regular polygon
is 140°, then the number of vertices of
the polygon is equal to
fa) 10
b) 9
(c) 8

(d 7

B-ABPA-P-~JRW/54A

55. Let the triangles ABC and DEF be such
that ZABC = ZDEF, ZACB = ZDFE and
£ZBAC = ZEDF. Let L be the midpoint of
BC and M be the midpoint of EF.
Consider the following statements :

Statement | :
Triangles ABL and DEM are similar.

Statement 11 :

Triangle ALC is congruent to triangle
DMF even if AC # DF.

Which one of the following is correct in
respect of the above statements?

(a) Both Statement I and Statement Il
are true and Statement II is the
correct explanation of Statement |

(b) Both Statement | and Statement Il
are true but Statement II is not the
correct explanation of Statement I

(c) Statement ] is true but Statement II
is false

(d) Statement I is false but Statement Il
is true

56. The number of rounds that a wheel
of diameter 7/11 metre will make in
traversing 4 km will be

(@) 500
(b) 1000
) 1700

(d) 2000
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52. A difse % ABC u& fayw &, el A &)

AT U T 8| D 3 E#9: AB ¥ AC
T 39 v o fagd ® 5 BC *in DE waim
%1 afz B ABC 1 v, Biys ADE ¥
A% 1 2 A R, A AD 4 Ry

(@ 1w
) Lo
1
() — TFR

1
(d) —ﬁﬁlf

53. UF H@A HI YW F neA-fagH = vF 39y

4 1 dew & grEgs = W 2 Ak
aragds # A4a%d 2 T 36 8, a A F
AAHS F B7

(a) 22 7 g
(b) 4=
(c) 42 = g
(d 8 FFR

54. IR UH §H 9T F WAF HaF0 140° R, @

gy & ¥l 6 wen Frer e 27
(@ 10
(b) 9
(c) 8

(d 7

B-ABPA-P-JRW/54A

s5. #F #ife & fayw ABC ¥v fiys DEF 3

wvan & % ZABC = ZDEF, ZACB= ZDFE
3N ZBAC = £EDF %\ W1 difeg L, BC #1
ng-fig @ A M, EF w1 wa-fag R
frafafaa Hadt w famm Aifv

FYA I :
fas ABL 3w s DEM wwes 8|

EON

fgs ALC, fiys DMF % watmm B, @@ *f,
w4 AC # DF 81

I FeA & fo, Frafafas # 8 #9-0 0
Hel 27

(@ F44 1 0 F94 11 <F g9 8 sl
F9A 11, F94 1 ) 98 e 2

(b) F4 1 30w 1 I T B oA
9 11, F94 1 ) Gel 41T T8 8

(c) FUF16A ¢ AR FYA 11 37GA 2

(d) %441 303 R A FA 1154 2

56. 7/11 W& =@ % UH 9k 771 4 fHo o H

T T A T T T R OHe
anfi?

(@) 500
(b) 1000
{c) 1700

(d) 2000

[P.T.O.
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57. The base of an isosceles triangle is

300 units and each of its equal sides is
170 units. Then the area of the triangle
s

fa) 9600 square units

fa) (3-242):3
(b) (9-6v2):2
fc) 1:(9-642)
(d (3+242):2

60. A tangent is drawn from an external

point O to a circle of radius 3 units at
P such that OP =4 units. If C is the
centre of the circle, then the sine of the
angle COP is

(a) 4/5
(b) 3/4
fc) 3/5
(d) 1/2

B-ABPA-P-JRW/54A
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61. A square is inscribed in a right-angled

triangle with legs p and g, and has a
common right angle with the triangle.
The diagonal of the square is given by

W =
{b) 10000 square units pPr<q
(¢) 12000 square units Pq
(d) None of the above @) 2p+q
58. Four equal discs are placed such that pq
each one touches two others. If the area fc) s
of empty space enclosed by them is Pr8
150/847 square centimetre, then the n
radius of each disc is equal to (d) p_l-:(iz
fa) 7/6 cm
b) 5/6 cm
L 62. If £-Ytano=1and Xtanb+¥ =1, then
fc) 1/2 em a b ;s 2a b
{d 5/11 cm the value of:—2+i’7 is
59. ABCand DEF are similar triangles. If the 2 2
ratio of side AB to side DE is fa}; 28ec=Q (o). sec
(v2 +1): V3, then the ratio of area of 4 5
triangle ABC to that of triangle DEF is (c) cos®8 (d) 2cos” 8

63. Consider the following :

‘/ﬂ = cosech - cotH
1+cosf

2. 1+cosB

= cosecH +coth
1-cos®

Which of the above is/are identity/
identities?

(a) 1 only

(b) 2 only

{c) Both 1 and 2

(d) Neither 1 nor 2
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57. & wafiag P =1 smam 300 =8 R
whH e et § 4 e A wed
170 31§ B e 1 dwa o 27

(a) 9600 & 3

(b) 10000 ' gTé
) 12000 = 3T

(d) 394w 3 | Fd 7

58. WX W AFEHIA F W YHR @ 9 ¢ fE
W A 3 H ShREs w e e
R T T e i WR @ fEed
150/847 af Fo o 2, M WA= wfFm Hi
oo e Toar 7
(@) 7/6 o o
(b) 5/6@o Ho
fc) 1/2 ¥o Hio
(@ 5/11 fo o

59. ABC ¥R DEF wweyq fayw %) 3R y=n AB
R ¥ DE W1 IF9WA (V2+1):/3 B, @
faye ABC % &3%a %1 fiY® DEF % &%
| T FE 87
(a) (3-242):3
(b) (9-6v2):2
c) 1:(9-6V2)

(d (3+2v2):2

60. 3@EE AP F I & fag PR e 7@
faig 0 & = wi-tm @ v o S}
fFoP=amitiaR Fmm F c}, @
#IV COP #1 sine #1 87
(@) 4/5
(b) 3/4
(c) 3/5
(@ 1/2

B-ABPA-P-JRW/54A

61. p ¥R g yonl 9@ v wEw By d
Fa:a dian s R Biys & gnwm, @1 =
e ot B ) 3 1 fael Rrad aoe @7

rq
“ p+2q

Pgq
() P44

V2pq
p+q

(c)

2
Ptq

62. 9 X -Yiano=13R Xtano+¥=1% @
a b a b

2

2
X Y 0w a7
a? b2
(a) 2sec?® (b) sec?6
(c) cos? 9 {d) 2cos? 6

63. FrfafRaa w faam #ifeng

’l-c_ose = cosech - coth
1+cosB

1+cosB
1-cosb

I | } FR-H weaiie qdaied /27
(@) Fa4 1

(b) ¥ 2

c) 1 3R 23

(d Ad1mad2

= cosecB +coth

[P.T.O.
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64. If p=coth+tan® and gq=secH-cosH,

2.4 2 13 -
then (p“q)® —(g“p)? is equal to

(a)
(b)
(c)
@ 3

N = O

65. Two observers are stationed due north of

a tower (of height x metre) at a distance
y metre from each other. The angles of
elevation of the tower observed by them
are 30° and 45° respectively. Then x [y
is equal to

V2-1
W
v3-1
il =

J3+1
2

(c)

(d 1

66. If

cos? 6 - 3cosf +2 2

1
sin? 9

where 0<9<-’2E, then which of the

following statements is/are correct?

1. There are two values of 6 satisfying
the above equation.

2. 6=60" is satisfied by the above
equation,

Select the correct answer using the code
given below.

(a) 1 only

{b) 2 only

fc) Both 1 and 2
{d) Neither 1 nor 2

B-ABPA-P-JRW/54A
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67. In a triangle ABCif A- B= -;- then C+2B
is equal to

2n

(a)

(b) —

fe) =

(d)

N

68. Which of the following is correct
in respect of the equation
3-tan?6=a(1-3tan?0)? (Given that
o is a real number.)

1
(a) QE[E, 3]

(b) ae(—oe, ]u[3, es)

1
3
(c) ae(-—oo, %)uls, o)

(d) None of the above

69. There are five lines in a plane, no two
of which are parallel. The maximum
number of points in which they can
intersect is

(@ 4
(b) 6
c) 10
{d) None of the above

Previous Pathshala
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64. 32 p=coth+tan® 3 g=sech-cosh %,
A (pq)’ (a2 p)? Freds mom ¥
(a)
(b)
fc)
(d)

W N = O

65. @ dgF vE dAR (x fiw F) F dw aw A
UE-gE § y "z 1 g0 woufEE 21 3| AE
B M R F 39 w0 wEE: 30° 3
45° 81 @ x ) y T ava #7

(@) ——

() =

cos? 6 - 3cosh +2 w1

sin? 6
wﬁs0<e<g%,ﬁlﬁﬂf%rﬁ§am=ﬁﬁﬁ

FH-91/8 T 2/R7

1. 39w wHIE F R FH 9, 0 F A
a4 £

2. 0 =60° ITYF FHF F G B
I fow o %2 1 wEm = w5 I g
fa) Faa 1

(b) FaE 2

fe) 1 3 23E

(d FdM1IMAA2

B-ABPA-P-JRW/S54A

67. @ﬁgﬁABCﬁﬂﬁA-B:%%,%hcmB

Torae T B7

fa) —

oy =

fc) n

(d)

NA

68, fieffaa # @& @w-wm, wfewm

3—tan29=a(1—3tan29) E B
27 (Ren & 7 o v anafas g 2))

(a) ae[%, 3]
(b) ae(-oo, -;—]u[3, «)

fc) ae(—oo, %)0[3, o)

(d) 39 A | FIE AH

69. TF UHad # U9 W §, o 8 w5 off 21

o w8 ¥ 3 faga A, fm w3 fsda
R HFAl 8, AfUFan GE 7 87

(@) 4
(b) 6
(c) 10

(d) 394 A A FE T

[P.T.O.
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70. Consider a circle with centre at O and

radius 7 cm. Let QR be a chord of length

2 cm and let P be the midpoint of QR.

Let CD be another chord of this circle

passing through P such that ZCPQ

is acute. If M is the midpoint of CD

and MP =424 cm, then which of the

following statements are correct?

1. ZQPD =135

2. fCP=mcmand PD=ncm, thenm
and n are the roots of the quadratic
equation x%2-10x+1=0.

3. The ratio of the area of triangle OPR
to the area of triangle OMP is 1: 24/2.

Select the correct answer using the code

given below.

fa) 1 and 2 only

(b) 2 and 3 only

{fc) 1 and 3 only

(d 1,2 and 3

71. Let ABC be a triangle in which AB= AC,

Let L be the locus of points X inside or
on the triangle such that BX = CX.
Which of the following statements are
correct?

1. L is a straight line passing through
A and in-centre of triangle ABC is
on L.

2, L is a straight line passing through
A and orthocentre of triangle ABC
is a point on L.

3. L is a straight line passing through
A and centroid of triangle ABC is a
point on L.

Select the correct answer using the code

given below.

fa) 1 and 2 only
(b) 2 and 3 only
fc) 1 and 3 only
{d) 1,2 and 3

B-ABPA-P-JRW/54A
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72. Consider a circle with centre at C. Let OP,

OQ denote respectively the tangents
to the circle drawn from a point O
outside the circle, Let R be a point on OP
and S be a point on OQ such that
ORxSQ=0SxRP. Which of the
following statements is/are correct?

1. If X is the circle with centre at O
and radius OR, and Y is the circle
with centre at O and radius OS,
then X =Y,

2. ZPOC+ ZQCO =90

Select the correct answer using the code
given below.

fa) 1 only

(b) 2 only

(c) Both 1 and 2
(d) Neither 1 nor 2

73. If m and n are distinct natural numbers,

then which of the following is/are
integer/integers?

m n
L e

n o m
2. mn(ﬂ'r—’—l-)(mzﬂlz)"
n m

8 il

m? 4+n?

Select the correct answer using the code
given below.

fa) 1 and 2
(b) 2 only
fc) 2 and 3
{d) 3 only
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70. 3 O 3R 7 Vo Ho B & wh 99 W fmw

fifeg) 7@ fifg OR, 2 Ao Ho WAl TH

st ® #iv wm &fifm P, QR 1 we-fag #)

A e cp @i oga #f, P A TR

aqdl, F H9 S | YR B zcPo

=FFm 21 3R M, cD #1 we-fig ® 3R

MP =23 o Hio B, A Fr=feflas =udt

A F-3 g 87

1. ZQPD=135

2. IR CP=m Ao o 3R PD = nFo o
g, @ m 3 n fEm wdEm
x?-10x+1=07% 5@ 2|

3. Pys oPR % dawa #1 fBw oMP F
A% ¥ AFIE 1: 242 R

12 faw e gz 1w W wd 3w g
(a) &ad 1 3R 2
(b) Fad 2 31 3
(c) &= 1 3R 3
(@ 1,233

71. M &ifsg ABC uw fye R, R AB= AC

21 7 if fagait x =1, <t f Boge & sim

71 figs W @ waw B BX = ox R, fagow

L #\ Frfafas wo 3 8 #9-3 wd #7

1. L, A# 750 9l TF |5 @ s
e ABC 1 saFz LR R

2. L, AB TEA 9 UF Wa @ ¢ R
s ABC ®1 wadz Lw us fag Ry

3. L A® A 9 wh 5@ @ R o
figs ABC %1 Fz# LW w& fag R

A1 fow e g2 @ wEm w wd 3Im g
(a) Fa@ 1 32
(b) Faa 2 ¥R 3
(c) F9a 133
{d 1,23m3

B-ABPA-P-JRW/S54A
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72. %3 C 9 ©F 39 W far Afs) 9@ ifn

OP, OQ #"a: gd % aml fag 0OV g9 W
i T wei-tard ¥) 99 @ifag R, oP W
wF fag 3R S, 00 W v& fag @ wan & &
OR x SQ = OSx RP #| fr=fafiaa wuai § @
FH-41/R wd 2/E7

1. 3R X, %z o3 f=n oR = g9 & awn
Y, # ol s os#wgm @, A
x=v%

2. ZPOC+ £QCO = 9(®

R fw e g2 w1 wEm W= Ed I ghu
fa) Faad 1

(b) Faw 2

(c) 1 322

(d AR 13Mmad2

73. Uﬁmmnﬁ'ﬂmm?.ﬁlﬁqﬁfﬁaﬁ

B F-|1/4 gt R /87

1. 2B
n
2. mn(——‘n-—'l)(m2 +n%)!

3.

fa) 1#R2

[P.T.O.
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74. Outside a meeting room, Madhukar was

told by a person that each meeting
takes place after 13/4 hours. The last
meeting has been over just 45 minutes
ago and the next meeting will take place
at 2 p.m. At what time did Madhukar
receive this information?

(a) 10:20 a.m.

(b) 11:30 a.m.

fc) 11:40 a.m.

fd) 11:50 a.m.

75. The expenditure of a household for a

certain month is ¥ 20,000, out of which
¥ 8,000 is spent on education, ¥ 5,900
on food, ¥ 2,800 on shopping and the
rest on personal care, What percentage
of expenditure is spent on personal
care?

fa) 12%

(b) 16:5%

c) 18%

(d) 21-8%

B-ABPA-P-JRW/54A

76. If

where x, y and z are natural numbers,
then what is z equal to?

(@ 1 (b) 2
(¢ 3 (d 4

77. A circular path is made from two

concentric circular rings in such a way
that the smaller ring when allowed to
roll over the circumference of the bigger
ring, it takes three full revolutions.
If the area of the pathway is equal to
n times the area of the smaller ring, then
n is equal to

(@) 4 fb) 6
(c) 8 (d) 10

78. Consider the following statements :

1. If n23 and m=>3 are distinct
positive integers, then the sum of
the exterior angles of a regular
polygon of m sides is different from
the sum of the exterior angles of a
regular polygon of n sides.

2. Let m, n be integers such that
m>n23. Then the sum of the
interior angles of a regular polygon
of m sides is greater than the
sum of the interior angles of a
regular polygon of n sides, and their

X n
sum is (m+ n)?

Which of the above statements is/are
correct?

fa) 1 only

(b) 2 only

fc) Both 1 and 2
{d) Neither 1 nor 2
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74. G FH F AW UF A ¥ ngR A 77 F 76. 4R
T3S 9% 13/4 92 F AR A 2 fee 61 1

Yo% &% 45 e vEa @ waw g @ ek W e

WTell FoF AU 2 W wA| QY R TR g+l

g1 e w9 ww g5? ?
Wﬁx,yaﬁ(zwmi,?ﬁzmm
27

(@) 10:20 Him (a) 1 (b) 2
fc) 3 (d) 4

(b) 11:30 Eia 77. T g4 Uy ) HHA gg aodl A 59 TER &9

R % 5@ oR T A R FEy N ohfa w
oA @ 2, @ 9 QA e #wa R

(c) 11:40 TR IR W W dEwE, R T9d F AAH W
n T R, @ n fred sum 27

(d) 11:50 T8 s o o
c) 8 (d 10

78. Frafafas w4 w fam iy

1. 3R n>3 3R m2 3 fim v pis
B @ m el S UE T oA &

75. T W R e wdi @ = € 20,000 3, afe=pn #1 AFE, n gEH T @
ot & fovan m & 8,000, @R W € 5,900, 9 AgyE & Afewnvi % drsa A fis
@fierfl ¥ 2,800 2R 9y A @y W 2
70 g R g = w e s o 2. WE i m, n PifE @ v £ B
wﬁsrm%ammgmt? m>nz3 @ m‘fﬂﬁﬂl@@%ﬂ

ARYH F HAFN F AR, n Y

A UF TH AGES F AN F A
@ 12% A st & ol 3w A ()t
d
(b) 16:5%
I FYA A A -/ g B/R7
(a) Fad 1
) 18% (b) ¥ 2
fc) 1 3 22H
(d 21-8% (d @1 dANAH2
B-ABPA-P-JRW/54A 27 [P.T.O.
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79. Consider the following statements :

1. There exists a regular polygon
whose exterior angle is 70°.

2. Let n25. Then the exterior angle
of any regular polygon of n sides
is acute.

Which of the above statements is/are
correct?

(a) 1 only

(b) 2 only

() Both 1 and 2
(d) Neither 1 nor 2

80. In a triangle PQR, point X is on PQ

and point Y is on PR such
that XP=1.5 units, XQ = 6 units,
PY =2 units and YR =8 units. Which
of the following are correct?

1. QR=5XY
2. QR is parallel to XY.

3. Trangle PYX is similar to triangle
PROQ.

Select the correct answer using the code
given below.

(a) 1 and 2 only
(b) 2 and 3 only
) 1 and 3 only
(d 1,2 and 3

81. If a transversal intersects four parallel

straight lines, then the number of
distinct values of the angles formed will
be

(a)
(b)
(c)
d) 16

B-ABPA-P-JRW/54A

82. A person travels 7 km eastwards and

then turns right and travels 3 km and
further turns right and travels 13 km.
What is the shortest distance of the
present position of the person from his
starting point?

(a) 6 km
() 3J5 km
() 7 km

(d) 4J5 km

83. ABC is a triangle in which D is the

84.

midpoint of BC and E is the midpoint
of AD, Which of the following statements
is/are correct?

1. The area of triangle ABC is equal to
four times the area of triangle BED.

2. The area of triangle ADC is twice
the area of triangle BED,

Select the correct answer using the code
given below.

fa) 1 only

(b) 2 only

fc) Both 1 and 2
(d) Neither 1 nor 2

A circle of 3 m radius is divided into
three areas by semicircles of radii 1 m
and 2 m as shown in the figure above,
The ratio of the three areas A, Band C
will be

(a) 2:3:2 (b) 1:1:1
fc) 4:3:4 (@ 1:2:1
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79. F=fafas 96 w fa=n fifmw

1. T uW agye v, fora afessm 700 3,
sfeae 2|

2. WA R >S5 @ B gensi
I W9 YT F1 afewnm 2 B

IJYE FA H A T-W/A G 2/
(a) Fad 1

(b) F=w 2

(c) 1 323

(d F@ 13T 2

80. fFfl By POR # fag X, PO w sin fag

Y, PRR % mR ¢ B xP=1.5 35,
XQ=6T#E, PY =2 3%K 941 YR = 8 39713
2| Fraforfaa § | 99-3 o §7

1. QR=5XY
2. QR, XY % Hiat 8|

3. By@ pyx, fiys PRO % wwey R
A1 Ru e g2 i v # wd Iw g
(a) Faed 1 30 2

(b) Faa 2 3w 3

fc) Fa@a 1 3R 3

(d) 1,23R3

81, 3 vw fods @ 9w wwiw W@ st =

wfeeden wft 2, A W yER . Ao F P
A %) HE 4 2

fa) 2

(b) 4

fc) 8

(d 16
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82. TF Aft W@ #i 3 7 fho Wo amm 2, fW

2 yga & a9 3 fHe Mo waa 2, ik fw
7 gear B ud 13 fRo Mo wwmn ¥ 3w =
% yrfes fag & seh advm fafs 6 =
7l feeerft 27

(a) 6 f&Fo Hio
(b) 345 o o
(c) 7 TFo te
(d) 45 fke o

83. ABC w% fayw ¥, il D, BC %1 nw-fig %

84,

A E, AD %1 wen-fig R Frefafaa wa §

| BR-91/8 g8 /87

1. By ABC %1 &%, Bys BED ¥
&A% 1 TR AT 2

2. By ADC 1 dave, e BED ¥
HIFE 1 3 R

A fw g g2 1 v w3 g

(@) Fad 1

(b) FaE 2

fc) 1 ¥R 23

(d) A 1382

& B s sifEa fom 3 aufa R, 3 Ao
B % wh gu # 1 He o 2 flo Bren F
Hefge | 97 & § fawrfom faen mn 21 A
&4l A, B 3R C 1 9 =21 gm?

(a) 2:3:2 (b) 1:1:1

fc) 4:3:4 (d 1:2:1

[P.T.O.
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85. lt‘JE=l—o--‘/E and x-y= 8, then the
y 3 X

value of xy is equal to

(a) 36
(b) 24
fc) 16
{d) 9
86. A
P
I—
B Q C

ABC is a triangle right angled at C as
shown in the figure above. Which one
of the following is correct?

(a) AQ?+ AB? = BP?+ PQ?

(b) AQ?+ PQ? = AB?+ BP?

(c) AQ?+BP? = AB%+ PQ?

(d) AQ?+AP? = BK?+KQ?

B-ABPA-P-JRW/54A

87.

B

1
1

A D

In the figure given above, AD = CD = BC.
What is the value of ZCDB?

(@) 32°

(b) 64°

fc) 78°

({d) Cannot be determined due to
insufficient data

88. ABC is an equilateral triangle and X, Y
and Z are the points on BC, CA and AB
respectively such that BX = CY = AZ.
Which of the following is/are correct?

1. XYZ is an equilateral triangle.

2. Triangle XYZ is similar to triangle
ABC. .

Select the correct answer using the code
given below.

fa) 1 only
(b) 2 only
fc) Both 1 and 2

(d) Neither 1 nor 2
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85. ﬂﬁ‘/5=%o—\/g3ﬂ’(x-y=8§,ﬁ1xy$l

s aua 7
fa) 36
(b) 24
c) 16
r
(d) 9
86. A
P
A
B 0 c

ABC U faa ®, ol C wmeim R, S 6
R sfEa faa & 2ofar mn 2 Pafafaa 5 3
F-91 TF Tl B7

(@) AQ?*+AB? = BP?+ pQ?
‘ (b) AQ*+ PQ? = AB?+ BP?
fc) AQ*+ BP? = AB?+ PQ?

(d) AQ?+AP? = BK?+ KQ?
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87.

96°

A t D B

FW 3ifka fm % AD=cD=BC % 2cDB
F1 HE 47 87

(a) 32°
(b) 64°
(c) 78°

(d) s7afm HFE F =nw Puifa 5@ B
T Fh

88. ABC W& g faywi @ air fagd x, vy wd 2

FHA: BC, CA a4l AB W 36 wn & %
BX = CY = Az ?) f=fafiaa 4 & $=-w/3
wel R/27

1. XYZ % quarg e R
2. P xvz, By ABC & wweq 21

4 fw o 52z F1 wEm = wd 3w g
(a) Faa 1

(b) 3 2

(¢) 1 ¥R 236

(d J@1sad2

[P.T.O.
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89.

90.

A

In the figure given above, p and q are
parallel lines. What are the values of the
angles x, y and z?

fa) x=80°, y=40°, =z=100°
{b) x=80, y=50, =z=105
fc) x=70°, y=40°, =z=110°

d x=60r y=200, =z=120°

2x+6y=21

v

o|1¢234

The linear inequations, for which the
shaded area in the figure given above is
the solution set, are

fa) 2x+6y<21, 5S5x-2y<10
(b) 2x+6y<21, 5x-2y=210
fe) 2x+6y=221, 5S5x-2y<10

fd 2x+6y=221, 5x-2y=10

B-ABPA-P-JRW/S4A

91. The election result in which six parties
contested was depicted by a pie chart.
Party A had an angle 135° on this pie
chart. If it secured 21960 votes, how
many valid votes in total were cast?
fa) 51240
(b) 58560
(c) 78320

(d) 87840

92. The mean and median of 5 observations
are 9 and 8 respectively, If 1 is
subtracted from each observation, then
the new mean and the new median
will respectively be

(@) 8 and 7

fb) 9 and 7

fc) 8 and 9

{d) Cannot be determined due to
insufficient data

93. The age distribution of 40 children is as
follows :

Age (in years) | 56 | 6-7 | 7-8 | 8-9 |9-10|10-11

No. of children | 4 7 9 12 6 2

Consider the following statements in

respect of the above frequency

distribution :

1. The median of the age distribution
is 7 years.

2. 70% of the children are in the age
group 6-9 years.

3. The modal age of the children is
8 years.

Which of the above statements are

correct?

fa) 1 and 2 only

(b) 2 and 3 only

fc) 1 and 3 only

(d 1,2 and 3
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100°

IR fwa 3 § p 3l g guien Yard ) Fm
x, y 3N z % 99 =0 §7

(a) x=80°, y=40°, z=100°
fb) x=80°, y=50, z=105°
fe) x=70°, y=40°, z=110°

(d x=60, y=20°, z=120°

90'

2x+6y=21

o|1¢234 »

A Yaw swfverd, e fog wa ag=m ofie
&3 T IR 3ifha o A 2wfn o 2, &

fa) 2x+6y=<21, 5x-2y<10
b) 2x+6y<21 5x-2y=10
fc) 2x+6y=21, Sx-2y<10

(d) 2x+6y=221, 5x-2y=10
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91. U& YA 1, foed we 7t 3 wm forn, afomm
Fui@ (W18 91°) TN guiE T W gend §
Zd A H ®V 135° 911 3% 3/ 21960 W
a1, @ o Fre 39 wa =@ T A7

(@) 51240
(b) 58560
(c) 78320
(d) 87840

92, 5 Y&Vl F mrey =N wiftaE Fuw: 0 o 8 By
Ife waE Yam B 1 gEEn W, @ T ae
iR 7wty €M, @aw:

(@ 837
(b) 937
(c) 83O

(d) \vatw fEel & w=no Ruifa 58 fre s
A

93. 40 F=l # Y 1 weA Frafafaa @

g (791 7) 56 | 6-7 | 7-8 | 8-9 [9-10|10-11

wHiftgen | 4 | 7 | 9 |12 ]| 6 | 2

IFH AREARA F29 F an § Frafafaa Fu
‘Rﬁaﬂ?ﬁﬁﬂ(:

1. 311G w2 i wifeaen 7 @ Ry
2. 70%@= 6-9 99 ¥ g o A §)
3. =i &) age g 8 9¥ ¥
I FE A B -9 w7

fa) & 192

(b) Fad 2 3R 3

(c) Fad 1 3R 3

(d 1,233

[P.T.O.
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94. Suppose x; = A for0<i<10, where d > 1 98. The value of the expression

Which one of the following is correct? (243+647)2 +(243—%647)2
{a) AM < Median 243 x243 + 647 x 647
(b) GM < Median 15 equul to

() GM = Median ::)’ : Zj ;

(d) AM = Median
99, If @ and b are negative real numbers and
¢ is a positive real number, then which

1 ;
Gy S g = N N y rery . 1 1 )
95. Suppose Xx; i for i=1,72,3 11 of the following is/are carrect?

Which one of the following is not 1. a-b<a-c
correct? a._ b
2. Ifa<b, then —<—. |
fa) AM >1/6 ¢ e
T <%
3. —<-
(b) GM>1/6 = L
(c) HM>1/6 Select the correct answer using the code
(d) Median = HM Bven below:
fa) 1
96. The value of (b) 2 only
L1og,p 3125 - 41og;q 2 +log; 32 (c) 3 only
o (d) 2 and 3
- 100.
fa) O
(b) 1
fc) 2
{d 3
4 n AD is the diameter of a circle with area
. If tan® +cotB = —, where 0 <8 < —, the g
. e J3 et 2 R 707 m? and AB= BC= g;:as shown in
sin® +cosB is equal to the figure above. All curves inside

the circle are semicircles with their

() 1 diameters on AD. What is the cost of
J3-1 levelling the shaded region at the rate of
(b) ~a ¥ 63 per square metre?
(a) ¥ 29,700
() *’52” (b) € 22,400
(c) T 14,847
(d) 2 (d) None of the above
B-ABPA-P-JRW/54A 34
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94. 7 W 0<i<10 % forw x, = ' }, Wl 98. s

A > 18| Frsfefiaa & @ #-w1 v wd 27 (243 + 647)% +(243 - 647)*
) AN < iR 243 %243 + 647 x 647
%1 7 T auer 7
(b) GM < Hifeae (@ o ) 1
fc) GM = wifedH (c) 2 (d 3
(d) AM = HiferE 99, AR a ¥R b FEF T TEd § o o
TF YEE aRdias ged g, @ frefefag @
95. HM Wi i=1, 2, 3,.., 11 % fm x, =1 A AT/ W R/E7
L 1. a-b<a-c
2| Frafefiaa & & @9- @ wd) 78 27
2 llﬁa<b?i’l—<—?l
fa) AM >1/6
11
() GM>1/6 % PE2
¢ HM>1/6 A fag e e = WM F=d I gh)
(d) e = HM (a) 1
(b) Faw 2
1 Fas
96. glogm 3125-4log;p2+logyp 32 F HH :;)’ 23ﬂ”(33
w1 27
g 100.
) 1
fc) 2
(@ 3
97. af tanB+cotb = 2, & 0<6< %, A s o o sifa fo & <o o &, AD
V3 2 9 T =W §, 39 F GFEA 707 91 Ho 3
sin @ + cos 6 foras =Er 37 3R AB=BC=CD 2| 39 ¥ i@ wft 7%
(@ 1 aviga ¥, 9% =am AD w ) # 63 gfa
A Hio #l W R wifda &3 F w9z =3 ) @A
3 -
(b) e 71 87
(a) € 29,700
(c) ‘62” (b) ¥ 22,400
c) € 14,847
(d) V2 (d) 3ITEE A E FIE A
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